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Chapter 6 Hand-in Assignment - Trigonometric Identities
Name:

1. Simplify each expression.
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2. Werify the following identity algehraically, for x=—

1-sinx Cos T
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3. Write each expressian as a single trigonometric function

aj cos 20 cos 5 +sin 20 sin 5
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1. Simplify each expression.
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2. Werify the following identity algebraically, for x = £
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3. Write each expressian as a single trigonometric function.

aj cos 20 cos 5 +sin 20 sin 5
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b)

Iee idemtiti: specinl angle values to determine the exact value 4 pemometric exprossi
4, Use identities and special angle values to determine the exact value of exch frigonametric expression, 4, Use identities and specinl angle values to determine the exact value of each frigonometric expressian,
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5. 1F £A is in quadrant [, 2B is in quadrant 111, and sin A = _« and cos B = ',l use identities

S IF £Ais in quadeant [, £B is in quadrant 111, and sin A = — and cos B = —— | use identities
]
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7. Salve cach equation alpehraically, over the given damain, You will need 10 wse identitics
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7. Salve cach cquation alpehraically, over it
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